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L g HE 35 36 " 6.0 65.0
pACA /R 38 40 18 12.0 66.0
3zt 2 37 41 18 12.0 66.0
M EH = 35 41 16 10.0 66.0
S —1{& 40 41 81 13.0 68.0
6L AR HI 36 38 14 6.0 68.0
T e 38 43 81 13.0 68.0
8|k BIE 34 40 14 6.0 68.0
Of ¥ERE R 42 41 83 14.0 69.0

1062 #2 R= 40 41 81 12.0 69.0
114 | #7E xiE 42 40 82 12.0 70.0
1261 | &2 f2— 43 41 84 14.0 70.0
134 \BRA =& 40 39 19 9.0 70.0
1461 | %FHE &5 42 42 84 14.0 70.0
1567 |/BE —X 41 42 83 13.0 70.0
1661 | FH B 39 40 19 9.0 70.0
17 |8l & 39 43 82 12.0 70.0
18 AR E 45 40 85 14.0 711.0
1965 2R #3A 41 39 80 9.0 71.0
206z | EF BTk 42 41 83 12.0 711.0
2162 Il & 40 39 19 8.0 71.0
221 | R A 39 41 80 9.0 711.0
2361 | KA ¥=E 37 39 16 5.0 71.0
2461\ 58 = 43 41 84 12.0 12.0
26561 | KK 43 41 84 12.0 12.0
2667 AT RO 39 41 80 8.0 12.0
2760\ IUKR EZ 39 43 82 10.0 12.0
286 ER mC 37 44 81 9.0 12.0
2961 | HEIR  HEA 40 43 83 10.0 13.0
306z | &R RE— 40 45 85 12.0 13.0
SIGL| KA 37F 48 40 88 14.0 74.0
3201 BEE R— 44 40 84 10.0 14.0
KRIVAL-F 1 42 40 82 8.0 14.0
3461 | K% 275 40 40 80 6.0 14.0
356 AR IEF 39 44 83 9.0 14.0
364 BJIl RF 45 42 87 12.0 75.0
ML\t ASE 41 40 81 6.0 15.0
384L HEA RAI 42 46 88 13.0 75.0
396z | kR B 41 48 89 14.0 75.0
404G ;BH = 47 41 88 12.0 76.0
Mz sHE RZ- 46 44 90 14.0 76.0
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420 | BAE H= 40 50 90 14.0 76.0
3| BIRE F= 47 41 88 11.0 11.0
444 %8k 1EBH 46 42 88 11.0 71.0
A5 | /D FR fBR 42 49 91 14.0 11.0
4661 KT T 45 47 92 14.0 78.0
46| LR &5 42 50 92 14.0 18.0
B FEBH KB 44 39 83 4.0 79.0
4947 | 18EF ER 46 45 91 12.0 719.0
506 &Il B 40 50 90 11.0 79.0
S| 5% #E 49 44 93 13.0 80.0
524 | hnpE  —I# 48 45 93 13.0 80.0
536 ¥ IER 48 46 94 13.0 81.0
SAfGL #H FIX 47 50 97 14.0 83.0
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